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sin(a + ) = sin accos 8 + cos asin 3

cos(a+ ) = cosacos § — sinasin
Lo HEZES. B— B LdhIE, cos(—B) =cosB, sin(—8) = —sinB &b

sin(a — ) = sinacos 8 — cos asin

cos(a — 3) = cosacos 3 + sin asin 3
&%, ZO4D2OXREDROAANFRDSNS.
1. 2BEADRR :

(a) X (D) IZBWVWT, a=4LBWVWTsin2a ZRKDLI W,

(b) X (2) IZHBWVT, a=pLBWVWTcos2a ZRDLI .

2. RADAR : KX (2) LR (A) CBVT, a=8LsL.

(a) Mr2RUEETBHILIZE>T, cos?a % cos TELRI.

b) WAB|EEA2TAHZLIZL-5T, sin?a % cos TELARI,
(b)



3. MM - ZEICERT BN :

(a) X (1) &AB)ITHEVT, HARLEZTLHILIZEST, sinacosf & sin THRLUKLI L.

(b) X (1) &XB)ITBWVWT, WAHIEHEETEHILIZE5T, cosasinf % sin TRUBRI .

(c) X(2) X ITBWVWT, WAXRELEZTHILITE-T, cosacosf % cos TRLURI .

(d) X (2) &R (4)ITBWT, WLFIEFEETEHILITEST, sinasinf & cos TRURI .

4. M- Z5BIEHTEILR 3. DRARTa+8=A4, a—B=BeBLIrIZ&>T

(a) sin A+ sin B % sin & cos D TR UL I L.

(b) sin A —sin B % sin & cos D THRLRI ..

(c) cos A+ cosB % cos DR TR LRI .

(d) cos A —cosB % sin DFTRLZRI ..



